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oR
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: 8 +6 = 24 )Hj 90 Ls 24y+qo0
18X ] i -y
caux@ 18 = A° 185 2y LI
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1 6 )18 (>
- __‘%

——t
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- sex(@ 18 Sq] g0, =5
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numbers the yuUeN@ of quotient from top 4,
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find, both the numbers:
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e vl = SR TWO NO'& Ay
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Qs x @) +uss = 3YS

. T
@ Find. HcE of 12 & 90.
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XY I
__]8¥ =] R
219 €
LK)
Lt 9o
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D find the usdest no wie when dividsd 4 Yo .
and. \030 FIvVer 2ame xemadnolk -

Ny N2 N3 Ny B

\d/ Mo N

‘ do  da -

HCF (_dq,dz,c[:,) = (OGweatest no
L that gives xame

Yenmod nolx .

Ylo 7S | 1630

\/\/

34) 239

HCE of a3y z 239
g

62
2 X @—'-‘f B

That no- 4 31 A

—
[ —

@ A faumer has qus s and 24%s buffallo - H
wants F0 e them n minimwm no: of ganus
Mh o W thak each guoup has Only one type
of animal and. also containg equal no- of antmals
N @ch group. find such minimum no' of gaoups.

@ & grwi.nm, has Yy opple tree, 66 bamana thee ana 110
mango Dae . He want to plamt them insuth o wof
Hhat €qch »ow conduain orwﬂfon_o.-mpeo{l.plun:t and-
also Sy Ul no-of plans. find no: of mjnimum Yo
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HCF = X
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£> SEE Yy NOo'A = IS 0.
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b ]
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p HCF = Y
t x ¥
b Gx + Uy = 96
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7
HLE — =
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rc¢d = 240 , 26 —
| 2/ 3, 4)
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4 9
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the HCF of thae fwo |
nds
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-
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-
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/ @Tﬂe sum and cﬁH-OF HCF and Lcm of +two ho- L3 qu
and S18.- find both the numbers £ 2wm of +Hhese

fwo no' 4 296 |

L + H = S92 a3 x +37 = 294
8
Lo H = & Xty = 8
L= SSS _——
H= 3% i
H:f
Nolg = 3F XN, '5';!'5‘*

Lem= »F XY = SSS
Nﬁ = 555

—_—

2F

. 2xs = 185

‘S' 317‘3 - |||

Dfind the smallegt e wle whan divided by~ S>6,8and
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S, 6, 8, 9

Lcm = 360

In each case .

smallst nor W(C gives 2 vemod ndex When div)dsg
by $,¢, 8,9 = 36ot> = 363
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@l{l Q{akmebéﬂd,Soré orangeés Ih a he

Wit with 3 ovange puk 1§ -he pak 8 or 9 O¥Ahge In
w'll‘hﬁorqng,o_g.—ﬁnd_{-hgno-gﬁ- -
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g &5 8a 9 )
+ 3 ~
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[ pﬂbﬂ(‘h Vnﬂm; [ DD ] ‘J_ 15 1 /T Tﬂ‘! !
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Lcm = 1Y4eo
- e 19 29 ay
T = Yoo
6 G & - 4o
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TR .
V19 ;",,-'f_i-—,

6O¥ >~ | =
- N unfh.c(Volume-Z

Scanned by CamScanner



| 28) Find the Aoast mulbiple of 13 wlc when dividad by
14,5 and, 6 Gives Amoinder L» 253 andL Y .

2, Y, S5 6 Lem) = 60 )
R | % 3 Y e, ., Y -
7 _— — — — B 1> Y80 { R
sa
L I . K + Bk —a& == .
Sak + 3

K=y 25 31”)57‘71,%,‘41 a

4for k=10 |t Wi olvicled b&f 13 . _

Mmoo

bokK— 2

of 4 d_,!.&ii‘ L‘Dl(‘ when a

29 Find the a»maldut no:
gives somalnder 2 -

dvidsd bb" 3,4;5 and 6

3, Y S» 6 Lem = 6° -
60 )| 00 000 [ | 666 |,00 00O -
60 +20 .
Yoo |ooo 20 )
= . 2 _
YOo B
€ 360 looo 22 Ang- -
Yoo pr— P
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qo B

@ Find the Aasgut ne of- 6 dugik wlc whan divicled. -
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|
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@‘&# find the dgast pesgect Auare no: w|c when
qvidsd bY- 4,55, ¢ gives somainder zero.
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2x2. x 3%5 B
] L_\_’ e
‘ mMutHply by 2 %S
—

@ Two (-08’ wheels Jna\f'lng— 6 and @y feeth )Lufed-wdl(f—

The biggee wheed makes s souolutions e Jnowp-jc
calonlate how mang- fimes the specific feeth ©

i 2 maller
bigger wheell meots with the spectfic feeth of

wheel w1 houms .

along. <
(B) Thaee suunned a, & and ¢ TN 3

path of 2 km AD
13 em|HY - 'Fh_p_)d stasd
for the same deshnakion .

fugethesr 1n 6 How -
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£X 3666~ _ 360

3
WO —————‘_’_‘, +‘

Lom of 1250 20,30 = 60O

1 24
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o e 7
o e
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temof (16,29) = g

ys
3/\7‘_
0
16 Teth 2 Teeth

: T3] wheel VT & TR

T s ok // W%&W@R— :

o W wheel A BT (@efp
specific feeth @) ;

Biggtx Wheel maks S Aevolutiony per  Hous

So In 1l Houss ss Aweluhony.

Whon Bigge. whee| moakes & swolutions 1t meets with

the  specific feeth of smallox whaef | tinme . ,
R sonolution —— (Hme ; 2.3 ,.
2.0 T —— 10time ol astudtam -
sy awhon R times gy
@ s 8
12km km 12Km
)
Mg A2 42, S, )
3 7 13 -
Lm = LN (2.0200) - |2 )
- - = |2 Hri -
HCF (353> 13) '

fAften 12 Howt Hw(-u'l.Ume— again "

[E: 32,33,34~ TH Qup. ¥ Time & Lem 3 &) ‘

S
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